Ju Ching Chu Secondary School (Kwai Chung)

F. 6 Vocabulary Quiz – December 

(A Phrase A Day – November 2004)

1. She is pessimistic about her future. She is expecting that ________ will happen in the future.

A. accidents     B. uncertainties      C. bad things      D. good things

2. You shouldn’t jump to _______ just because they were holding hands.

A. a conclusion   B. the conclusion   C. conclusions    D. the conclusions

3. We have decided to offer you the job ___________.

A. just in case    B. after careful consideration   C. in conclusion   D. in precaution

4. The dog seems fierce, but actually he’s ______________.

A. harmful   B. harmless    C. in harm    D. out of harm

5. There will be an official ________ into the train crash.

A. action   B. measure    C. review    D. inquiry

6. We called ______ the government to find out the truth.

A. on    B. in    C. up    D. out

7. The inability to sleep is often a/an ________ of some other illness.

A. transparency   B. symptom   C. impact    D. strike

8. Bus drivers are going on strike tomorrow.

A. They will stop working tomorrow.

B. They will not eat tomorrow.

C. They will protest against the government.

D. They will not do extra duties.

9. This centre provides services for _________ children.

A. mental handicap  B. mental handicapped   C. mentally handicap  D. mentally handicapped

10. The court barred _________ his former wife.

A. him seeing   B. him to see   C. him from seeing   D. him being seen

11. It is the duty of the police to ______ the law.

A. enforce    B. step up    C. conduct    D. release

12. Which of the following is correct?

A. It worths to see the film.        B. It worths seeing the film.

C. It is worth to see the film.       D. It is worth seeing the film.

13. Which of the following is WRONG?

A. Adult ticket prices range from 50 to 100 dollars.

B. The police took firm actions to deal with the riots.

C. Smoking is harmful to health.

D. Run upstairs and fetch me my glasses.

14. Warnings about the dangers of smoking seem to have little impact _____ the teenagers.

A. on    B. in    C. to    D. for

15. The word ‘impact” in question 14 can best be replaced by ______.

A. consequence   B. force   C. effect    D. change

16. The rising crime rate is a/an _________ of social unrest.

A. arch   B. transparency    C. inquiry    D. symptom

17. The time was ripe for a general election. It is a/an ______ time for a general election.

A. suitable   B. unsuitable    C. certain    D. uncertain

18. High interest rates will drive many small firms __________ .

A. in business   B. on business    C. out of business    D. down to business

19. Our business in China was wound up.

A. We had good business in China.

B. We closed down our company in China.

C. We developed business in China.

D. We combined our companies in China.

20. The old man passed _________ at the age of 90.

A. by    B. out    C. over    D. away

21. The financial secretary, Henry Tang, has warned that Hong Kong's finances remain uncertain because of …
   i. rising US interest rates        ii. depreciation of the yuan

iii. the mainland's macroeconomic adjustment measures  iv. surging oil prices
A. i, ii, iv  B. i, iii, iv  C. ii, iii, iv  D. i, ii, iii

22. Legco's President, Rita Fan’s husband died of …
A. Liver cancer   B. Lung cancer   C. stroke   D. heart disease

23. Hongkong's Disneyland theme park is scheduled to open next ______.
A. July   B. September   C. October    D. December
24. The government confirmed that preliminary test of a dead Grey Heron found in Lok Ma Chau contained _____ avian influenza.
A. N2   B. N4   C. H1   D. H5

25. ________ proposals have been shortlisted for the development of a cultural centre in West Kowloon.

A. Two   B. Three   C. Four   D. Five
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1. She is pessimistic about her future. She is expecting that ________ will happen in the future.

A. accidents     B. uncertainties      C. bad things      D. good things

2. You shouldn’t jump to _______ just because they were holding hands.

A. a conclusion   B. the conclusion   C. conclusions    D. the conclusions

3. We have decided to offer you the job ___________.

A. just in case    B. after careful consideration   C. in conclusion   D. in precaution

4. The dog seems fierce, but actually he’s ______________.

A. harmful   B. harmless    C. in harm    D. out of harm

5. There will be an official ________ into the train crash.

A. action   B. measure    C. review    D. inquiry

6. We called ______ the government to find out the truth.

A. on    B. in    C. up    D. out

7. The inability to sleep is often a/an ________ of some other illness.

A. transparency   B. symptom   C. impact    D. strike

8. Bus drivers are going on strike tomorrow.

A. They will stop working tomorrow.

B. They will not eat tomorrow.

C. They will protest against the government.

D. They will not do extra duties.

9. This centre provides services for _________ children.

A. mental handicap  B. mental handicapped   C. mentally handicap  D. mentally handicapped

10. The court barred _________ his former wife.

A. him seeing   B. him to see   C. him from seeing   D. him being seen

11. It is the duty of the police to ______ the law.

A. enforce    B. step up    C. conduct    D. release

12. Which of the following is correct?

A. It worths to see the film.        B. It worths seeing the film.

C. It is worth to see the film.       D. It is worth seeing the film.

13. Which of the following is WRONG?

A.  Adult ticket prices range from 50 to 100 dollars.

B.  The police took firm actions to deal with the riots.

C.  Smoking is harmful to health.

D.  Run upstairs and fetch me my glasses.

14. Warnings about the dangers of smoking seem to have little impact _____ the teenagers.

A. on    B. in    C. to    D. for

15. The word ‘impact” in question 14 can best be replaced by ______.

A. consequence   B. force   C. effect    D. change

16. The rising crime rate is a/an _________ of social unrest.

A. arch   B. transparency    C. inquiry    D. symptom

17. The time was ripe for a general election. It is a/an ______ time for a general election.

A. suitable   B. unsuitable    C. certain    D. uncertain

18. High interest rates will drive many small firms __________ .

A. in business   B. on business    C. out of business    D. down to business

19. Our business in China was wound up.

A. We had good business in China.

B. We closed down our company in China.

C. We developed business in China.

D. We combined our companies in China.

20. The old man passed _________ at the age of 90.

A. by    B. out    C. over    D. away
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1. She is pessimistic about her future. She is expecting that ________ will happen in the future.

A. accidents     B. uncertainties      C. bad things      

2. You shouldn’t jump to _______ just because they were holding hands.

A. a conclusion   B. the conclusion   C. conclusions    

3. We have decided to offer you the job ___________.

A. just in case    B. after careful consideration   C. in conclusion   

4. The dog seems fierce, but actually he’s ______________.

A. harmful   B. harmless    C. in harm    

5. There will be an official ________ into the train crash.

A. action   B. inquiry    C. review    

6. We called ______ the government to find out the truth.

A. on    B. out    C. up    

7. The inability to sleep is often a/an ________ of some other illness.

A. transparency   B. symptom   C. impact    

8. Bus drivers are going on strike tomorrow.

A. They will stop working tomorrow.

B. They will not do extra duties.

C. They will protest against the government.

9. This centre provides services for _________ children.

A. mental handicapped  B. mentally handicap   C. mentally handicapped

10. The court barred _________ his former wife.

A. him seeing   B. him to see   C. him from seeing   

11. It is the duty of the police to ______ the law.

A. enforce    B. step up    C. conduct    

12. Which of the following is correct?

A. It is worth seeing the film.       B. It worths seeing the film.

C. It is worth to see the film.       

13. Which of the following is WRONG?

A.  Adult ticket prices range from 50 to 100 dollars.

B. The police took firm actions to deal with the riots.

C. Smoking is harmful to health.

14. Warnings about the dangers of smoking seem to have little impact _____ the teenagers.

A. on    B. in    C. to   

15. The word ‘impact” in question 14 can best be replaced by ______.

A. consequence   B. change   C. effect    

16. The rising crime rate is a/an _________ of social unrest.

A. arch   B. transparency    C. symptom

17. The time was ripe for a general election. It is a/an ______ time for a general election.

A. suitable   B. unsuitable    C. certain    

18. High interest rates will drive many small firms __________ .

A. in business   B. on business    C. out of business    

19. Our business in China was wound up.

A. We had good business in China.

B. We closed down our company in China.

C. We developed business in China.

20. The old  man passed  _________ at the age of 90.

A. away   B. out    C. over   
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